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A	
  causa	
  di	
  un	
  dato	
  mancante	
  nell'esercizio	
  2	
  (comunque	
  risolvibile	
  lasciando	
  
indicato	
  il	
  valore	
  della	
  velocità	
  iniziale),	
  i	
  voti	
  sono	
  assegnati	
  secondo	
  la	
  
sequenza	
  7,2,7,7,7	
  (2	
  punti	
  per	
  l'es.2	
  e	
  7	
  punti	
  per	
  gli	
  altri)

MATRICOLA E1 E2 E3 E4 E5 TOTALE
0000646199 7 0 5 0 0 12
0000631342 7 2 2 7 3 21
0000628578 7 0 4 7 1 19
0000632167 7 0 0 7 2 16
0000629429 7 0 7 0 4 18
0000636297 7 0 4 7 4 22
0000636445 5 0 6 2 4 17
0000628504 7 0 7 3 0 17


